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G5-M6-Lesson 15

[ Perpendicular segments intersect and form 90°, or right, angles. ]

e

1. Circle the pairs of segments that are perpendicular.

The angle formed by these segments
is greater than 90°. These segments
are not perpendicular,
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| can use anything that is a right angle,
such as the corner of a paper, to seg if it
fits in the angle where the lines intersect.
If it fits perfectly, then | know that the
lines are perpendicular,

The angle formed by these segments
is less than 90°, These segments are
not perpendicutar.
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2. Draw a segment perpendicular to each given segment. Show your thinking by sketching triangles

as needed.
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EXIETTOTRR L LIS

| can sketch 2 missing sides to create a
triangle. Then if | visualize rotating it and
sliding it, | can draw a perpendicular segment
by sketching the longest side of the triangle.
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Lesson 15: Construet perpendicular line segments on a rectangular grid.
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